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485584138618.2
485584138619. 3
485584138620. 4

Geography
Group Number : 9
Group Id : 485584776
Group Maximum Duration : 45
Group Minimum Duration : 45
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
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Geography

Section Id : 485584894
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842536
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 201 Question Id : 48558434056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The concept neither there 13 a situation of absolute necessity nor absolute freedom is ealled :

1. Environmentalism

[

. Probablism
3. Possibilism

4, Neao-determinism

Options :

485584136221. 1
485584136222.2
485584136223. 3
485584136224. 4

Question Number : 201 Question Id : 48558434056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584136221. 1
485584136222.2
485584136223. 3
485584136224. 4

Question Number : 202 Question Id : 48558434057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Radical school approach in human geography 1s related to

1. encyclo paetic description of the area

[ O]

. indentifying the Uniqueness of any region
3. indentifying mappable pattern for different human activities

4. explaining the basic cause of poverty and social mequality

Options :

485584136225. 1
485584136226.2
485584136227. 3
485584136228. 4

Question Number : 202 Question Id : 48558434057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136225. 1
485584136226. 2
485584136227. 3
485584136228. 4

Question Number : 203 Question Id : 48558434058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Discontentment with quantitative revolution did not lead to the emergence of
1. Humanistic school of geography

2. Radical Geography

Lo

. Regional Geography
4. Behavioural Geography

Options :

485584136229. 1
485584136230. 2
485584136231.3
485584136232. 4

Question Number : 203 Question Id : 48558434058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584136229. 1
485584136230. 2
485584136231.3
485584136232. 4

Question Number : 204 Question Id : 48558434059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

1% a sub-field of social Geography.

[a—y

. Geography of Leisure

[

. Geography of Resources
3. Geography of Tourism
4. Geography to Agriculture

Options :

485584136233. 1
485584136234.2
485584136235. 3
485584136236. 4

Question Number : 204 Question Id : 48558434059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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485584136233. 1
485584136234.2
485584136235.3
485584136236. 4
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Question Number : 205 Question Id : 48558434060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Demographic Transition Theory can be used to describe and predict :

1. People participation in different categories of economic activities

[

. Future population of an area
3. Gender based classification of population of an area

4. Working and depend and population of an area

Options :

485584136237. 1
485584136238.2
485584136239. 3
485584136240. 4

Question Number : 205 Question Id : 48558434060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584136237. 1
485584136238.2
485584136239. 3
485584136240. 4
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Question Number : 206 Question Id : 48558434061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which programine was infroduced by the Government of India to address the issue of decline in child sex

ratio?
1. Beti Bachao Beti Padhao
2. Beti Samjhao Beto Padhao
3. Beti Samjhao Beti Bachao

4. Beti Batao Beti Badhao

Options :

485584136241. 1
485584136242.2
485584136243. 3
485584136244. 4

Question Number : 206 Question Id : 48558434061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Question Number : 207 Question Id : 48558434062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
International Labour Organisation (ILO) proposed for human development measurement,

1. basic needs approach
2. income approach
3. welfare approach

4. capability approach

Options :

485584136245. 1
485584136246. 2
485584136247. 3
485584136248. 4

Question Number : 207 Question Id : 48558434062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584136245. 1
485584136246. 2
485584136247. 3
485584136248. 4
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Question Number : 208 Question Id : 48558434063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The process of migration from plain areas to pastures on mountain during swmmers and again from mountain

pastures to plain areas during winter 1s known as

1. immigration
2. migration
3. transhumance

4, emigration

Options :

485584136249. 1
485584136250. 2
485584136251. 3
485584136252. 4

Question Number : 208 Question Id : 48558434063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584136249. 1
485584136250. 2
485584136251. 3
485584136252. 4

Question Number : 209 Question Id : 48558434064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

‘Chicago-Gary’ 15 a major industrial region of

1. Europe
2. Australia
3. Canada

4, United States of America

Options :

485584136253. 1
485584136254.2
485584136255.3
485584136256. 4

Question Number : 209 Question Id : 48558434064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584136253. 1
485584136254.2
485584136255. 3
485584136256. 4

Question Number : 210 Question Id : 48558434065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which of the following sea route 15 called as Big Trunk Route ?

1. North Pacific Sea Route

[

. Northen Atlantic Sea Route
3. Cape of Good Hope Sea Route

4, Southern Atlantic Sea Route

Options :

485584136257. 1
485584136258.2
485584136259. 3
485584136260. 4

Question Number : 210 Question Id : 48558434065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584136257. 1
485584136258. 2
485584136259.3
485584136260. 4
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Question Number : 211 Question Id : 48558434066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following country has the highest density of rail network ?
1. Africa
2. Canada
3. Asia

4. Australia

Options :

485584136261. 1
485584136262. 2
485584136263. 3
485584136264. 4

Question Number : 211 Question Id : 48558434066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584136261. 1
485584136262. 2
485584136263. 3
485584136264. 4

Question Number : 212 Question Id : 48558434067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The Union of Conurbations 1s called

1. Megolopolis

[

. Conurbation

L]

. Metropolitan
4. Million City

Options :

485584136265. 1
485584136266. 2
485584136267. 3
485584136268. 4

Question Number : 212 Question Id : 48558434067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136265. 1
485584136266. 2
485584136267. 3
485584136268. 4
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Question Number : 213 Question Id : 48558434068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the following regions in ascending order according to growth rate of population (2010-13).

A. Oceania
B. Europe
C. Asia

D. Africa

Choose the correct answer from the options given below :

1. (B). (C). (A). (D)

[ ]

.(B). (A). (C). (D)
3. (B). (D), (A). (C)
4. (A), (B). (C). (D)

Options :

485584136269. 1
485584136270. 2
485584136271.3
485584136272. 4

Question Number : 213 Question Id : 48558434068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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3. (B). (D). (A). (C)
4. (A), (B). (C). (D)

Options :

485584136269. 1
485584136270. 2
485584136271.3
485584136272. 4

Question Number : 214 Question Id : 48558434069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the following stations of Trance Siberian Railway from East to West direction.

A, Chita

B. Vladivostak
C. Moscow

D. Omsk

Choose the correct answer from the options given below :

1. (A). (B). (C). (D)

[ ]

-(B). (A). (D). (C)
3.(B). (A). (©). (D)

=Y

.(A). (B). (C). (D)

Options :

485584136273. 1
485584136274. 2
485584136275. 3
485584136276. 4
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Question Number : 214 Question Id : 48558434069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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1. (A). (B). (©). (D)

[ o]

(B). (A). (D). (C)
3. (B). (A). (C). (D)
4. (A), (B). (C). (D)

Options :

485584136273. 1
485584136274. 2
485584136275. 3
485584136276. 4

Question Number : 215 Question Id : 48558434070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the following mega cities of the world in descending order according to population (2016).

A. Shangha:
B. Beijing
C. Sao Paulo
D. Tokyo

Choose the correct answer from the options given below :

1. (D). (A). (C). (B)

]

(D). (A). (B). (C)

LN

.(A). (D). (B), (O)
4. (A), (D). (C). (B)

Options :

.
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India’s largest Student Review Platform



485584136277. 1
485584136278. 2
485584136279. 3
485584136280. 4

Question Number : 215 Question Id : 48558434070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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1. (D). (A). (C). (B)

[ )

(D). (A). (B). (C)

L% ]

(A). (D). (B). (C)
4. (A), (D). (C), (B)

Options :

485584136277. 1
485584136278. 2
485584136279. 3
485584136280. 4

Question Number : 216 Question Id : 48558434071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Read the following statements about demographic transition theory carefully :

A. The first stage has high fertility and high mortality

B. Fertility remains high in beginning of second stage

C. In the last stage both fertility and mortality declined considerably

D. This theory cannot be used to describe and predict the future population of any area

Choose the correct answer from the options given below :

1. (A). (B). (C) only
2.(A). (B). (D) only
3. (A). (C). (D) only

4.(B). (C). (D) only

Options :

485584136281. 1
485584136282. 2
485584136283. 3
485584136284. 4

Question Number : 216 Question Id : 48558434071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1. {A). (B). (C) only

2. (A). (B). (D) only
3. (A). (C). (D) only

4.(B). (C). (D) only

Options :

485584136281. 1
485584136282. 2
485584136283. 3
485584136284. 4
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Question Number : 217 Question Id : 48558434072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Identify the characteristics of compact or nucleated settlements :

A. Houses are built very close to each other.
B. Communities share common occupation.

C. Mainly found i fertile plains.

D. Houses are interspersed with fields.

Choose the correct answer from the options given below :

1. (A), (B). (D) only

[ ]

(A). (C). (D) only
3. (B). (C). (D) only
4.(A).(B). (C) only

Options :

485584136285. 1
485584136286. 2
485584136287.3
485584136288. 4

Question Number : 217 Question Id : 48558434072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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C. JRAT: SIS, e H Urg & 8|
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L. (A). (B). (D) only

[ )

(A). (C). (D) only

L% ]

.(B). (C). (D) only
4, (A). (B). (C) only

Options :
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485584136285. 1
485584136286. 2
485584136287.3
485584136288. 4

Question Number : 218 Question Id : 48558434073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LISTI LISTII
{Concept) (Definition)
A Density of I The working population participation in
" | population " | various occupations
8. | sex Ratio I Numbers of people in different age
groups

: Ratio between the number of women and
C. | Age structure | II1

men
Oecupational . | Ratio batween the numbers of people to
D] T
Structure size of land

Choose the correct answer from the options given below:

1. (A)-(IV). (B)~(IIL). (C)~(II). (D)-(D)

2. (A)-(IV), (B)-(II), (C)-(IIT). (D)~(I)

L

(A)-(I). (B)-(IT). (C)-(IV). (D)-(IIT)
4. (A)-(IV). (B)-(I). (C)-(III). (D)~(II)

Options :

485584136289. 1
485584136290. 2
485584136291. 3
485584136292. 4

Question Number : 218 Question Id : 48558434073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
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L (A)-(IV). (B)-(IIL). (C)~(IT). (D)-(I)

ol o[w]»

[ )

(A)-(IV). (B)-(IT). (C)~(III). (D)-(I)

L]

- (A)-(D), (B)-(II), (C)-(IV), (D)-(IIT)
4. (A)-(IV). (B)-(I). (C)-(TII). (D)-(IT)

Options :

485584136289. 1
485584136290. 2
485584136291. 3
485584136292. 4

Question Number : 219 Question Id : 48558434074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
Qcol legedunias
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Match List I with List IT

LISTI LISTII
{Trains Continental Railways) {Stations)
Trans-Siberian Railwavs I. | Perth to Svdney
B. | Tran-Canadian Railways II. | &t. Petrsburg to Vladivostok

The Union and Pacific Railwavs | II1. | New York to San Francisco

D. The Australian Trans-continental v | Halifax soVancouer

Railways

Choose the correct answer from the options given below:

1. (A)-(ID), (B)-(I), (C)-(IV), (D)-(IIT)

[

(A)-(ID). (B)-(IV). (C)-(I1T), (D)-(I)

L]

- (A)-(II). (B)-(II). (C)-(IV). (D)D)

i

 (A)-(IV). (B)-(IID), (C)-(1). (D)-(II)

Options :

485584136293. 1
485584136294. 2
485584136295. 3
485584136296. 4

Question Number : 219 Question Id : 48558434074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-
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L. (A)-(ID). (B)-(I). (C)-(IV). (D)-(I1I)

[ )

LT

(A)-(IT). (B)-(IV). (C)~(III). (D)-(I)

3. (A)-(II). (B)-(III). (C)-(IV), (D)-(I)

4. (A)-(IV). (B)-(IIT). (C)-(I). (D)~(II)

Options :

485584136293. 1
485584136294. 2
485584136295.3
485584136296. 4

Question Number : 220 Question Id : 48558434075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

.
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Match List I with List IT

LISTI
(Aspects
of International Trade)

LISTII
(Characteristics)

Trade 1s done by two countries with

A | Multi-lateral Trade | L T
The nature of goods and services
B. | Volume of Trade II. | imported and
exported by countries
. | Composition of Trade is conducted with many
C. ITL. - s
Trade trading countries
D. | Bitateral Trade v The total value of goods and

services traded

Choose the correct answer from the options given below:

1. (A)-(II). (B)-(V). (C)-(1). (D)-(ID)

]

LN

. (A)-(III). (B)-(IV). (C)-(I), (D)-(I)

. (A)-(TI). (B)-(II). (C)-(IV). (D)-(I)

4. (A)-(IV), (B)-(II). (C)-(III). (D)-(I)

Options :

485584136297. 1
485584136298. 2
485584136299. 3
485584136300. 4

Question Number : 220 Question Id : 48558434075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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1. (A)-(IIT). (B)-(IV). (C)=(I). (D)~(II}

I

- (A)-(III). (B)-(IV). (C)-(ID). (D)-(T)

3. (A)-(III). (B)-(II). (C)-(IV). (D)-(I)

4. (A)-(IV). (B)-(II). (C)-(IIT). (D)-(I)

Options :

485584136297. 1
485584136298. 2
485584136299. 3
485584136300. 4

Question Number : 221 Question Id : 48558434076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Accordmg to 2011, the highest population density 1s recorded in

1. West Bengal
2. Kerala
3. Bihar

4, Uttar Pradesh

Options :

485584136301. 1
485584136302. 2
485584136303. 3

.
Qcol legedunias
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485584136304. 4

Question Number : 221 Question Id : 48558434076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

2011 & 3R, ¥ aifie Swed 9fE &o 31T o
1. 9% S
2.3

fawr

4. IR U

Options :

485584136301. 1
485584136302. 2
485584136303. 3
485584136304. 4

Y]

Question Number : 222 Question Id : 48558434077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Both the birth rate and death rate were high in India during

1.1901 -1921

2.1921 - 1951
3. 1951 - 1981
4, After 1981

Options :

485584136305. 1
485584136306. 2
485584136307. 3
485584136308. 4

Question Number : 222 Question Id : 48558434077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Inia:

India’s largest Student Review Platform
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1.1901 - 1921

2. 1921 - 1951
3.1951 - 1981
4. 1981 @ 94T

Options :

485584136305. 1
485584136306. 2
485584136307. 3
485584136308. 4

Question Number : 223 Question Id : 48558434078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Arunachal Pradesh is dominated by the speakers of family of Indian language.
1. Austric
2. Dravidian

3. Sino-Tibetan

4. Indo-European

Options :

485584136309. 1
485584136310. 2
485584136311. 3
485584136312. 4

Question Number : 223 Question Id : 48558434078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
gcollegedumas
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4. R

Options :

485584136309. 1
485584136310. 2
485584136311. 3
485584136312. 4

UfaR ST WISt die gl &1 Su g

Question Number : 224 Question Id : 48558434079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The Agenda - 21 Report of the Rio Conference was published in

1. 1972

[

. 1974
3. 1987

4. 1993

Options :

485584136313. 1
485584136314.2
485584136315. 3
485584136316. 4

Question Number : 224 Question Id : 48558434079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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1. 1972

| %]

1974

. 1987

LN

4. 1993

Options :

485584136313. 1
485584136314. 2
485584136315. 3
485584136316. 4

Question Number : 225 Question Id : 48558434080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which one of the following 15 a garrisson contonment town 7

1. Chandigarh

2. Satna

(%]

. Raniganj

4. Udhampur

Options :

485584136317. 1
485584136318.2
485584136319. 3
485584136320. 4

Question Number : 225 Question Id : 48558434080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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I
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4. SYAR

Options :

485584136317. 1
485584136318. 2
485584136319. 3
485584136320. 4

Question Number : 226 Question Id : 48558434081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A population size of 5000 - 9.999 15 put into which class of town according to 2011 eensus of India ?

1. Class —III

[

. Class —IV
3. Class =V

4, Class — VI

Options :

485584136321. 1
485584136322. 2
485584136323.3
485584136324. 4

Question Number : 226 Question Id : 48558434081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
gcollegedumas
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4. - VI

Options :

485584136321. 1
485584136322.2
485584136323. 3
485584136324. 4

Question Number : 227 Question Id : 48558434082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one of the following minerals 1s mainly used in the electrical and electronic industries 7
1. Graphite
2. Mica
3. Manganese

4, Bauxite

Options :

485584136325. 1
485584136326. 2
485584136327. 3
485584136328. 4

Question Number : 227 Question Id : 48558434082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
gcollegedumas
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Options :

485584136325. 1
485584136326. 2
485584136327. 3
485584136328. 4

Question Number : 228 Question Id : 48558434083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following energy plant has been commissioned at Manikaran ?
1. Wind Energy
2. Bio Energy
3. Solar Energy

4. Geothermal Energy

Options :

485584136329. 1
485584136330. 2
485584136331.3
485584136332. 4

Question Number : 228 Question Id : 48558434083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
gcollegedumas
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Options :

485584136329. 1
485584136330. 2
485584136331.3
485584136332. 4

I

&S]

Question Number : 229 Question Id : 48558434084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which steel plant in India has a supply of 1ron ore from Noamundi. coal from Joda mines. and water from

Kharkai river ?

1. Indian Iron and Steel Company (IISCO)

2. Tata Iron and Steel Company (TISCO)

3. Visvesvaraiya [ron and Steel Works Ltd. (VISL)

4. Rourkela Steel Plant

Options :

485584136333. 1
485584136334. 2
485584136335.3
485584136336. 4

Question Number : 229 Question Id : 48558434084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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4. I3 ST T4

Options :

485584136333. 1
485584136334.2
485584136335. 3
485584136336. 4

e 3R vus ®id a9y (VISL)

Question Number : 230 Question Id : 48558434085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

India was famous worldwide for the production of a very fine variety of cotton cloth 7Which of the following

was that 7
1. Chanderi
2. Khadi
3. Muslin

4. Lahori

Options :

485584136337. 1
485584136338.2
485584136339. 3
485584136340. 4

Question Number : 230 Question Id : 48558434085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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Options :
485584136337. 1
485584136338. 2

485584136339.3
485584136340. 4

[ ]

Question Number : 231 Question Id : 48558434086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The length of first railway run between Bombay and Thane was

1.32 km

[ ]

.34 km
3. 36 km

4, 38 km

Options :

485584136341. 1
485584136342. 2
485584136343.3
485584136344. 4

Question Number : 231 Question Id : 48558434086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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Options :

485584136341. 1
485584136342.2
485584136343. 3
485584136344. 4

I

&S]

ot

Question Number : 232 Question Id : 48558434087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which one of the following 1s the cause of ntestinal worms ?

1. Water Pollution

[ ]

. Air Pollution
3. Noise Pollution

4, Land Pollution

Options :

485584136345. 1
485584136346. 2
485584136347. 3
485584136348. 4

Question Number : 232 Question Id : 48558434087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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Options :

485584136345. 1
485584136346. 2
485584136347. 3
485584136348. 4

I

&S]

Question Number : 233 Question Id : 48558434088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
By 2050, an estimated of the world’s population will live in Urban areas.

1. one-third

[

. two-third
3. half

4, three-fourth

Options :

485584136349. 1
485584136350. 2
485584136351.3
485584136352. 4

Question Number : 233 Question Id : 48558434088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

.
gcollegedumas
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3. 3R

4, TS

Options :

485584136349. 1
485584136350. 2
485584136351.3
485584136352. 4

[ 5]

I IR &1 5 Harg S

Question Number : 234 Question Id : 48558434089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the following oil refineries of India from north to south direction.

A Mangaluru
B. Haldia

C. Kochchi
D. Tatipaka

Choose the correct answer from the options given below :

1. (D). (A). (B). (C)

[ ]

(D). (B). (A). (C)
3. (B). (D). (A). (C)
4. (B). (D). (C). (A)

Options :

485584136353. 1
485584136354. 2
485584136355.3
485584136356. 4

Question Number : 234 Question Id : 48558434089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-~
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L. (D). (A). (B). (C)
2. (D). (B). (A). (O)
3.(B). (D). (A). (C)
4. (B). (D). (C). (A)

Options :

485584136353. 1
485584136354.2
485584136355. 3
485584136356. 4

Question Number : 235 Question Id : 48558434090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following software technology parks of India from West to East direction.

A Delln

B. Kanpur

C. Kolkata

D. Gandhinagar

Choose the correct answer from the options given below :

L. (D). (A). (C). (B)
2.(D).(C). (B). (A)
3. (D). (A (B). (C)
4. (A), (D). (B). (C)
Options :
485584136357. 1
485584136358.2

485584136359.3
485584136360. 4

.
Qcollegedumas
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Question Number : 235 Question Id : 48558434090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

YR & FafaRad Siredor caraiet g &1 Ui 9 gd 53 ¥ soafed sifen
A, feedt
B. BHYR
C. HIADIAl
D. MR
% [99egl | 9 9! IR &1 994 B
1. (D). (A). (C). (B)

D). (C). (B). (A)

[ o]

(5]

(D). (A). (B). (C)
4. (A), (D). (B). (C)

Options :

485584136357. 1
485584136358. 2
485584136359. 3
485584136360. 4

Question Number : 236 Question Id : 48558434091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Read the following statements about rice crop mn India carefully.

A It 15 considered to be a crop of tropical humid areas.

B. Rice cultivation in the irrigated areas of Punjab and Haryana was introduced in 1950s.
C. In West Bengal farmers grow three crops of rice.

D. India was the second largest producer of rice in 2018,

Choose the correct answer from the options given below :

1. (A). (B) and (C) only

]

. (A). (C) and (D) only
3.(B). (C) and (D) only

4. (A). (B) and (D) only

Options : QCO“QgEduniaé
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485584136361. 1
485584136362. 2
485584136363.3
485584136364. 4

Question Number : 236 Question Id : 48558434091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

YR § =I1ad SN 2 dg T 14 SUAl B erHyds afau|

A. T8 39 3112 wicadty H9a AFT 9al &

B. UalTd 3HI¥ giamon & Rifaq 831 & =9 &1 39 1950 T TRD 17 |
c. ufym §7a ¥ fae ared & dF B9d 31 B

D, 2018 ¥ YRd 9190 P THR1 964 951 3aUED |

5 fasedl O O o1 3T &1 994 Bifow:
1. ad (A), (B) 3R (C)
AT (A), (C) IR (D)
.%ad (B), (C) 3R (D)
4. %dd (A), (B) 3R (D)
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485584136361. 1
485584136362. 2
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485584136364. 4
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Read the following statements about tea Crop in India carefully.

A. Tea 1s a plantation crop

B. Tea leaves have rich content of caffeine and tannin
C. Tea iz an indigenous crop of India

D. It is grown our undulating topography of hilly area

Choose the correct answer from the options given below :

1. (A). (B) and (C) only

[ ]

-(A). (B) and (D) only
3. (A). (C) and (D) only
4. (B). (C) and (D) only

Options :

485584136365. 1
485584136366. 2
485584136367.3
485584136368. 4
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YRA 99 & P & Jas J Haieigd oY= & a-yd® uieul
A, ¥ TP 90 HHA & ﬂ
B. 910 &I gt § it AR 29 &1 v arg ol 21
C. I HRA &1 S90S BH & | )
D. U8 UglS! &1 & arifid YTl (R iadl) W dlg ol 6|
{2 fosedl § 9§ 961 ST &1 994 DI
1. 9 (A). (B) 3R (C)
P (A), (B) 3R (D)
. @ad (A), (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options :

485584136365. 1
485584136366. 2
485584136367. 3
485584136368. 4
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Read the following statements about Coal deposit in India carefully.

A. About 80 per cent of the coal deposit in India is lignite type.

B. The most important Gondwans Coal fields of India are located i Damodar Valley.

C. Tharia is the largest coal field of India.
D. Korba coal mining centre is located i West Bengal

Choose the correct answer from the options given below :

1. (A). (B) and (C) only

[ ]

. (A). (C) and (D) only

(]

. (A). (B) and (D) only
4.(B). (C) and (D) only

Options :

485584136369. 1
485584136370. 2
485584136371.3
485584136372. 4
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D. BRAEl SO G4 &g 9 @ § [T 21

o 9weal § O Tot 3T &1 909 DI

. Fad (A). (B) 3R (O)
AT (A), (C) 3R (D)
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Options :

485584136369. 1
485584136370. 2
485584136371.3
485584136372. 4
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Match List I with List IT

LSTE | it Lteracy s
2011)
A | Bihar I |69.72
B. | Kerala II. | 87.40
C. | Gea III. | 83.91
D. | Uttar Pradesh | IV. | 63.82

Choose the correct answer from the options given below:

L. (A)-(D). (B)-(ID). (C)-(II). (D)-(IV)

[ )

(A)-(ID). (B)-(IV), (C)-(T). (D)~(I1I)

Caa

(A)-(V). (B)-(IID), (C)-(I1). (D)-(D)
4. (A)(1). (B)-(IIN). (C)~(ID), (D)-(IV)

Options :

485584136373. 1
485584136374.2
485584136375.3
485584136376. 4
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! 11 G 11 ¥ HeH Sifo

T e I
@) T
A |faBR I |69.72
B |&E 1. | 87.40
C.|mman I | 93.91
D. | 3R ucH IV | 63.82

Fafeiad [deei § 9 9l 9 &1 999 DI

1

-

7S]

_1

- (A)-(D), (B)-(D). (CO)-(IIT). (D)-(IV)

- (A)-(ID). (B)-(IV). (C)~(I). (D)-(III)

(A)-(TV), (B)-(TIT), (C)~(II). (D)-(I)

- (A)-(D). (B)-(III). (C)-(1I), (D)-(IV)

Options :

485584136373. 1
485584136374.2
485584136375.3
485584136376. 4
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Match List I with List IT

LISTI LISTII
(Tvpes to town) (Examples)
A | Ancient Town I. | Nagpur
B. | Medieval Town II. | Gandhinagar
C. | Modern Town III. | Madura:
D. | After Independence Town | IV, | Surat

Choose the correct answer from the options given below:

1. (A)-(IID), (B)-(1). (C)-(I1), (D)-(IV)

[ ]

- (A)-(D). (B)-(II). (C)-(IV). (D)-(I1T)

L

. (A)-(II). (B)-(D). (C)-(IV). (D)-(ID)
4. (A)-(D). (B)-(IV). (C)-(II1). (D)-(II)

Options :

485584136377. 1
485584136378. 2
485584136379. 3
485584136380. 4
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D. | T@daa UIta & UEE &1 FR| IV | 934
frafaiRad faeedl § 4 el 9T &1 99 S ;

1. (A)-(IID). (B)-(D). (C)-(ID). (D)-(IV)

[ )

L

(A)(D). (B)-(II). (C)-IV). (D)-(I1T)

3. (A)-(IID). (B)-(I). (C)-(IV). (D)-(II)

4. (A)(D). B)-IV). (C)-(TI). (D)D)

Options :

485584136377. 1
485584136378.2
485584136379. 3
485584136380. 4
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Read the given passage carefully and answer following question .

The Rubr Coal field of Germany has been one of the major industrial regions of Europe for a long time.
Coal and 1ron and steel formed the basis of the economy. but as the demand for coal declined. the mndustry
started shrinking. Even after the 1ron ore was exhausted, the mdustry remained, using imported ore brought by

waterways to the Ruhr.

The Ruhr region 1s responsible for 80 per cent of Germany’s total steel production. Changes in the
industrial structure have led to the decay of some areas. and there are problems of industrial waste and
pollution. The future prosperity of the Ruhr is based less on the products of coal and steel, for which it was
initially famous, and more on the new industries like the huge Opel car assembly plant. new chemical plants,
universities, Out-of-town shopping centres have appeared resulting in a ‘New Rulir” landscape.

The iron and steel mdustry forms the base of all other industries and, therefore, it is called a basic
mdustry. It 1s basic because it provides raw material for other mndustries such as machine tools used for further
production. It may also be called a heavy industry becaunse it uses large quantities of bulky raw materials and

its produets are also heavy.

Iron 13 extracted from iron ore by smelting in a blast furnace with carbon (coke) and limestone. The
molten 1ron 15 cooled and moulded to form pig 1ron which 1s used for converting into steel by adding

strengthening materials manganese.

and formed the basis of the economy Ruhr region.

1. Coal. Petrochemical
2. Iron and Steel. coal
3. Iron and Steel. Cotton textile

4, Cotton textile and Petrochemical

Options :

485584136381. 1
485584136382. 2
485584136383. 3
485584136384. 4
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Read the given passage carefully and answer following question .

The Rubr Coal field of Germany has been one of the major industrial regions of Europe for a long time.
Coal and 1ron and steel formed the basis of the economy. but as the demand for coal declined. the mndustry
started shrinking. Even after the 1ron ore was exhausted, the mdustry remained, using imported ore brought by

waterways to the Ruhr.

The Ruhr region 1s responsible for 80 per cent of Germany’s total steel production. Changes in the
industrial structure have led to the decay of some areas. and there are problems of industrial waste and
pollution. The future prosperity of the Ruhr is based less on the products of coal and steel, for which it was
initially famous, and more on the new industries like the huge Opel car assembly plant. new chemical plants,
universities, Out-of-town shopping centres have appeared resulting in a ‘New Rulir” landscape.

The iron and steel mdustry forms the base of all other industries and, therefore, it is called a basic
mdustry. It 1s basic because it provides raw material for other mndustries such as machine tools used for further
production. It may also be called a heavy industry becaunse it uses large quantities of bulky raw materials and

its produets are also heavy.

Iron 13 extracted from iron ore by smelting in a blast furnace with carbon (coke) and limestone. The
molten 1ron 15 cooled and moulded to form pig 1ron which 1s used for converting into steel by adding

strengthening materials manganese.

Rulir region contribute
1. 73%
i M T
3. 80%

4. 83%

Options :

485584136385. 1
485584136386. 2
485584136387. 3
485584136388. 4

of Germany’s total steel production.
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ST 71U =19 $T AHYdD Yieu SR 9 Ul & 3R Sifei]

T 9 IHG U R BT WA A JE¥ 61 ¢ | S, T Ud S59Td el SR B U YR
BT ® W PG B AT H S 3 & DRI Hi<Id g | T8 A6 3% FATd 5 0 i
TN § AR SEEE B YU SR I B W e |

SHHT & SETT STE Bl 80 Uio=Id =82 9 WK s1dl o | A= &< 8§ uRaad & oRU o6 &4l &
Sare | fiR1ae 311$ § Ud ugwu g sienfiie amfy ot gawr ff €9 ot 81 s/ e & ufas ot
TTed] SO d SETd & FoU AU S oY SiUd ®R g4 & {98 $REE], 90 J9EHEe 947,
fasfaerem sanfe R s g1 76T Tiert & 98-92 SR 897U ¢ o8 U@ 71 T3 Y2
fsRa g W gl

Ae-EaTd I gt I & SR § SO 5 SNy ST Hft SRl ST § | U8 SRy 39 §
FId g =g I o foe A% SR SioR o1 311 IdTe] & U Wi {95 Od € @1 &l °1d Wam
Hal o 39 UK 39 +ft wed § il g9H gl 3 § YRI-YREH Sr=dl 319 SS9 5 @ &Idl & Ud
0% oTg T U g §

AR FaTe o (oY dis-3rad &l idT Hiedl § S1e (1) Ud g1 YR o 914 WIEH a1 Sl 6|
e G 915 aTex Mo e ofd 681 61 oIdl & ol 34 Pl A6l ®ed o | 391 Pod g 3 SIS [Harm
STOTd §T 1T &

HAI & B P SHId DI EE U U Bl B
1. 73%
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Read the given passage carefully and answer following question .

The Rubr Coal field of Germany has been one of the major industrial regions of Europe for a long time.
Coal and 1ron and steel formed the basis of the economy. but as the demand for coal declined. the mndustry
started shrinking. Even after the 1ron ore was exhausted, the mdustry remained, using imported ore brought by

waterways to the Ruhr.

The Ruhr region 1s responsible for 80 per cent of Germany’s total steel production. Changes in the
industrial structure have led to the decay of some areas. and there are problems of industrial waste and
pollution. The future prosperity of the Ruhr is based less on the products of coal and steel, for which it was
initially famous, and more on the new industries like the huge Opel car assembly plant. new chemical plants,
universities, Out-of-town shopping centres have appeared resulting in a ‘New Rulir” landscape.

The iron and steel mdustry forms the base of all other industries and, therefore, it is called a basic
mdustry. It 1s basic because it provides raw material for other mndustries such as machine tools used for further
production. It may also be called a heavy industry becaunse it uses large quantities of bulky raw materials and

its produets are also heavy.

Iron 13 extracted from iron ore by smelting in a blast furnace with carbon (coke) and limestone. The
molten 1ron 15 cooled and moulded to form pig 1ron which 1s used for converting into steel by adding

strengthening materials manganese.

The assembly of car 1s done in the Rulr region of Germany.

1. Opel
2. Napel
3. Napthel

4, Onthel

Options :

485584136389. 1
485584136390. 2
485584136391. 3
485584136392. 4
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ST 71U =19 $T AHYdD Yieu SR 9 Ul & 3R Sifei]

T 9 IHG U R BT WA A JE¥ 61 ¢ | S, T Ud S59Td el SR B U YR
BT ® W PG B AT H S 3 & DRI Hi<Id g | T8 A6 3% FATd 5 0 i
TN § AR SEEE B YU SR I B W e |

SHHT & SETT STE Bl 80 Uio=Id =82 9 WK s1dl o | A= &< 8§ uRaad & oRU o6 &4l &
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3. AU
4, A
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Read the given passage carefully and answer following question .

The Rubr Coal field of Germany has been one of the major industrial regions of Europe for a long time.
Coal and 1ron and steel formed the basis of the economy. but as the demand for coal declined. the mndustry
started shrinking. Even after the 1ron ore was exhausted, the mdustry remained, using imported ore brought by

waterways to the Ruhr.

The Ruhr region 1s responsible for 80 per cent of Germany’s total steel production. Changes in the
industrial structure have led to the decay of some areas. and there are problems of industrial waste and
pollution. The future prosperity of the Ruhr is based less on the products of coal and steel, for which it was
initially famous, and more on the new industries like the huge Opel car assembly plant. new chemical plants,
universities, Out-of-town shopping centres have appeared resulting in a ‘New Rulir” landscape.

The iron and steel mdustry forms the base of all other industries and, therefore, it is called a basic
mdustry. It 1s basic because it provides raw material for other mndustries such as machine tools used for further
production. It may also be called a heavy industry becaunse it uses large quantities of bulky raw materials and

its produets are also heavy.

Iron 13 extracted from iron ore by smelting in a blast furnace with carbon (coke) and limestone. The
molten 1ron 15 cooled and moulded to form pig 1ron which 1s used for converting into steel by adding

strengthening materials manganese.

Iron and Steel industry 15 called
1. Basic
2. Secondary
3. Tertiary

4. Quaternary

Options :

485584136393. 1
485584136394. 2
485584136395.3
485584136396. 4

industry.

Question Number : 244 Question Id : 48558434099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

-

collegedunias

India’s largest Student Review Platform



ST 71U =19 $T AHYdD Yieu SR 9 Ul & 3R Sifei]

T 9 IHG U R BT WA A JE¥ 61 ¢ | S, T Ud S59Td el SR B U YR
BT ® W PG B AT H S 3 & DRI Hi<Id g | T8 A6 3% FATd 5 0 i
TN § AR SEEE B YU SR I B W e |

SHHT & SETT STE Bl 80 Uio=Id =82 9 WK s1dl o | A= &< 8§ uRaad & oRU o6 &4l &
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1. STURYA
2. fadia®
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Read the given passage carefully and answer following question .

The Rubr Coal field of Germany has been one of the major industrial regions of Europe for a long time.
Coal and 1ron and steel formed the basis of the economy. but as the demand for coal declined. the mndustry
started shrinking. Even after the 1ron ore was exhausted, the mdustry remained, using imported ore brought by

waterways to the Ruhr.

The Ruhr region 1s responsible for 80 per cent of Germany’s total steel production. Changes in the
industrial structure have led to the decay of some areas. and there are problems of industrial waste and
pollution. The future prosperity of the Ruhr is based less on the products of coal and steel, for which it was
initially famous, and more on the new industries like the huge Opel car assembly plant. new chemical plants,
universities, Out-of-town shopping centres have appeared resulting in a ‘New Rulir” landscape.

The iron and steel mdustry forms the base of all other industries and, therefore, it is called a basic
mdustry. It 1s basic because it provides raw material for other mndustries such as machine tools used for further
production. It may also be called a heavy industry becaunse it uses large quantities of bulky raw materials and

its produets are also heavy.

Iron 13 extracted from iron ore by smelting in a blast furnace with carbon (coke) and limestone. The
molten 1ron 15 cooled and moulded to form pig 1ron which 1s used for converting into steel by adding

strengthening materials manganese.

1 added to strengthen the material for making steel.

1. Mica
2. Lunestone
3. Coke

4. Manganese
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Study the given table carefully and answer the following question:

Composition of India's Export, 2009-2017

(Percentage share in Exports)

Commodities 2009-10 2010-11 2015-16 2016-17
Agriculture and allied products | 10.0 09 12.6 123
Ore and Minerals 49 4.0 16 1.9
Manufactured goods 674 680 129 736
Crude and petrolesum productz | 162 16 8 119 117
Other Commodities 15 12 11 0.5

How many of the following export commodities are showing an increasing trend between

2015-16t0 2016-177

!q
-2

4.4
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Study the given table carefully and answer the following question:

Composition of India's Export, 2009-2017

(Percentage share i Exports)

Commodities 2009-10 2010-11 2015-16 2016-17
Agriculture and allied products | 10.0 09 12.6 123
Ore and Minerals 49 4.0 16 1.9
Manufactured goods 67 4 680 729 736
Crude and petroleum products | 16.2 168 11.9 117
Other Commodities L3 [:2 1.1 0.5

In 2015 - 16, if agriculture and allied products and manufactured goods percentages are added. it would be

4. 86.0%
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Study the given table carefully and answer the following question:

Composition of India's Export, 2009-2017

(Percentage share in Exports)

Commodities 2009-10 2010-11 2015-16 2016-17
Agriculture and allied products | 10.0 09 12.6 123
Ore and Minerals 49 4.0 16 1.9
Manufactured goods 674 680 129 736
Crude and petrolesum productz | 162 16 8 119 117
Other Commodities 15 12 11 0.5

Which of the following export commodities registered increasing trends from 2009 - 10 to

2010-117

1. Ore and minerals and manufactured

2. Agriculture and allied product and crude and petroleum products

3. Manufactured goods and other commodities

4. Manufactured goods and crud and petroleum products
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Study the given table carefully and answer the following question:
Composition of India's Export, 2009-2017

(Percentage share in Exports)

Commodities 2009-10 2010-11 2015-16 2016-17
Agriculture and allied products | 10.0 2.9 12.6 123
Ore and Minerals 49 4.0 16 19
Manufactured goods 674 68 0 72.9 736
Crude and petroleum products | 16.2 168 119 117
Other Commodities L5 1.2 1.1 0.5

Percentage merease i manufactured goods trom 2010 - 11 to 2015 - 16 18 reported by which one of the

tollowing ?

3.3.9%

4.49%
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Study the given table carefully and answer the following question:

Composition of India's Export, 2009-2017

(Percentage share in Exports)

Commodities 2009-10 2010-11 2015-16 2016-17
Agriculture and allied products | 10.0 09 12.6 123
Ore and Minerals 4.9 4.0 16 1.9
Manufactured goods 674 680 129 736
Crude and petrolesum products | 162 168 11.9 117
Other Commodities 15 12 11 0.5

The highest difference in percentage between, 2010 - 11 to 2015 - 16 1s associated with which of the following

categories ?

1. Agriculture and allied products

2. Ore and Minerals
3. Manufactured goods

4, Other Commodities
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